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A, M,N,PQ,R,S, T, U W,Y and Z are twelve persons sitting in two concentric square tables i.e. the inner
table and the outer table. The inner table is surrounded by the outer table. Two persons sit at each middle
side of the inner table facing outside. They like different flowers i.e. jasmine, iris, orchid, oleander, rose, tulip,
daisy and lily. Four persons sit at four corners facing inside and they like different brands i.e. fila, wrangler,
nike and benetton.

Note: If P sits next to Q then it means P and Q sits on the same side of the inner table.

If P is equidistant from Q and R then it means P faces the corner which is immediate to the right of Q and
immediate to the left of R.

Three person sit between Y and W. Y does not like lily. The person who sits second to the right of W likes
orchid. Z sits next to Q. One person sit between the person who likes wrangler and nike brand. T who likes
iris does not sit next to Y and the person who likes orchid. R likes tulip. A who sits 3™ to the left of Z does not
sit next to Y. M likes rose. S is equidistant from W and R. U who likes fila brand sits immediate right of P. the
person who likes jasmine sits 37 to the right of the person who likes daisy. The person who likes wrangler is
equidistant from Y and Z. Z and Q does not like orchid.






Q1. N likes _ and sits _ ? Q4. How many persons sit between T and M when counted from the right of

A. Benetton, immediate right of S M?
B. Oleander, 2" to the right of R A. 1
C. Oleander, 2" to the left of R . 2
D. Wrangler, immediate right of U C. 3
E. None of these D. 4
E. None of these
Q2. Which of the following statement is true ?
A. Qsits 3" to the right of R Q5. Uis equidistant from __and __?
B. Msits nexttoR A. M A
C. N likes Wrangler B. Z,Y
D. Two person sit between M and A C. T,Q
E. W likesJasmine D. W,R
E. None of these
Q3. Who sits immediate right of S ?
A. Z
B. Q
C. N
D. T
E. None of these
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P % Q means P and Q do not sit next to each other.

P ~ Q means P and Q face same direction

P I Q means P and Q face opposite direction.

P & Q means P sits at a second position from Q

P A~ Q means P sits to the left of Q

P @ Q means P sits to the right of Q.

P # Q means P sits next to Q

P S Q means P sits at the third position from Q

P #* Q means P sits immediate left of Q

P &~ Q means P sits at a second position from Q and both are facing same direction.
Seven persons are sitting in a row. Four of them are facing north.
PS“"UR%YQP@U; SR, TH U;R~S;VIU;S~V;TIR,Q!T, T&@ V; Q &"S






Q6. Who sits 2" to the left of R ?
U
V
S

Q
None of these

Mmoo wm>

Q7. How many persons sit to the right of V ?
2

3

4

1

None of these

mooOwmr>
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. XA~A

1. E#~ WN

. H(I1Z

A. Only I follows

Only 11l follows

All follows

Both | and Il follows

None follow
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P# QR means AllQare Pand AllR are P

P S QR means Some Q are P and Some R are P

P@ QmeansNoQisP

P % Q means Some Q are P and Some Q are not P

P~ Q means Some Q are P

P(Qmeans AllQare P

~ means possibility case

I means definitely Not

Note: If ~ is placed after any of the symbol mentioned above then it will be considered as the possibility case of the symbol.
If | Is placed after any of the symbol mentioned above then it will be considered as the definitely Not case of the symbol.
For example: P (~ Q means All Q being P is a possibility.
P (! Q means All Q are definitely not P

Q8. Which of the following conclusions is/are follows
Statement:S(Z#WN@H"NE; Q# XA@ E
Conclusions:

. XA~A

Il. E#~WN

1. H(I1Z

A. Onlylfollows

Only Il follows

All follows

Both | and Il follows

None follow

moOOnOw
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P S Q means Only afew P are Q
P*QmeansNoPisQ

P# Q means All P are Q

P % Q means Some P are Q

P~ Q means Only P are Q

Q9. Conclusions:
Some mango are not banana
All grapes can never be watermelon

Statements:

A. Mango % watermelon. Watermelon # banana. Banana * grapes. Grapes S papaya.
B. Watermelon » mango. Watermelon * banana. Banana * grapes. Grapes S papaya.

C. Mango % watermelon. Watermelon * banana. Banana # grapes. Grapes S papaya.

D. Mango % watermelon. Banana # grapes. Grapes * papaya. Watermelon % banana.
E. None of these



A ( B means A is the brother of B
A * B means A is the wife of B

A # B means A is the father of B

A % B means A is the mother of B
A " B means A is the sister of B

A ! B means A is the husband of B

Z*JEW, TACIGWIT,S%C#P;S*D

A(BHRT T & A BFH HS §
A*BehT 37T & A, BTl Uil g
AH#BHT T & A BarT ar g

A%Ba&T AT & A B AT g
AABWH@&%A,B@W%
AIB&HT T & A BH Ufad &



Q10. Which of the following is true ?
JHT

G%P

S% W

GAD

D#W

mooOwre

Q11. Howis G relatedto D ?
Daughter in law
Mother in law

Sister in law

Son in law

Daughter

mooO e



Q12. Which of the following statements should be added to the original statementS (Z # WN @
HAMNE; Q#XA@ E so that the conclusion Q A S is definitely true ?
ﬁmﬁ@aﬁ@raﬁama@ama@asa#WN@HAE Q# XA @ EH SNST ST
EIT%U difehr TSy QA s Alaa &7 T I 8172

ANW

X(A"MH

S#EH

More than one option

None of these
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25H X

Gaurav Tbvibe Tvied

Shivansh Hsjebmhs  Jebm54 23M 9
Lopay Opkbb Opk4 26G 15
Kajal Pbgbo Pgo4 31G Y
Qe

Ife T QUH &I & 9 v d&ar amdr & ar aRone St "Earst &1 QYer e
Ife T 9H &A1 & 91G A TEAT 3T § ar aRomeY St gt &1 gera 89|
Ife v QYA §&a1 & 9 A HE&AT AT g ar

Ife Th HH &A1 & 91G fawsr TEar et @ at aRumer et dEanEt & 3FT T AOETE e
Row1:X 17 11

Row2:24 Y 16

Row3:27 Z 18

Q. I z3=T gfFaat & aRome &1 Ao g O 9fFa 3 &1 IROmE FAT geN?



25H X

Gaurav Tbvibe Tvied

Shivansh Hsjebmhs Jebmb54 23M 9

Lopay Opkbb Opk4 26G 15

Kajal Pbgbo Pgo4 31G Y

Conditions:

1. If an odd number is followed by another odd number then the resultant will be addition of both the
numbers.

2. If an even number is followed by another even number then the resultant will be subtraction of both the
numbers.

3. If an odd number is followed by another even number then the resultant will be sum of digits of both the
numbers.

4. If an even number is followed by another odd number then the resultant will be product of digits of both the
numbers.

Row1l: X 17 11
Row2:24 Y 16
Row3:27 Z 18
Q13. If Z is the sum of the resultant of both the rows then what is the resultant of Row 3?



25H X

Gaurav Tbvibe Tvied

Shivansh Hsjebmhs  Jebm54 23M 9
Lopay Opkbb Opk4 26G 15
Kajal Pbgbo Pgo4 31G Y
Qe

Ife T QUH &I & 9 v d&ar amdr & ar aRone St "Earst &1 QYer e

Ife T 9H &A1 & 91G A TEAT 3T § ar aRomeY St gt &1 gera 89|

Ife T QUHA &A1 & 9 A TEAT 3T & af aRome St &It & 3T T 9T g
Ife Th HH &A1 & 91G fawsr TEar et @ at aRumer et dEanEt & 3FT T AOETE e
Row1:31 22 6

Row2:15 10 ?

q. Ifg ST 9fFaar & IRUMA &7 J9T "Tamanna " & A T & & g, dF RAdH [™ed &
TYTT YT FAT ATAT ATGT?



25H X

Gaurav Tbvibe Tvied

Shivansh Hsjebmhs Jebmb54 23M 9

Lopay Opkbb Opk4 26G 15

Kajal Pbgbo Pgo4 31G Y

Conditions:

1. If an odd number is followed by another odd number then the resultant will be addition of both the
numbers.

2. If an even number is followed by another even number then the resultant will be subtraction of both the
numbers.

3. If an odd number is followed by another even number then the resultant will be sum of digits of both the
numbers.

4. If an even number is followed by another odd number then the resultant will be product of digits of both the
numbers.

Row1:31 22 6

Row 2:15 10 ?

Q14. What should come in place of question mark if sum of the resultant of both rows is equal to the final code of
“Tamanna”?



Input: Dhawan Lord Anindya Varun Sid Virtuous
Step 1: Dhwn Lord Idy Varun Sid Virtos
Step2: 18W 160 34ly 36Au 23Si 4llos
Step 3: 14 13 23 13 24 30
Step4: 4 3 5 6 6 0

Input: Adamant Bubble Occurrence Element Idiotic Giggle



Q15. How many letters are there(in English alphabetical order) between the 2" |etter of the 2" word from
the left end and 3™ letter of the 3" word from the right end in step 1?
3

mooOw>
O L RN

Q16. Which is the 2" element to the right of 4" element from the right end in step 2?
Q17. What is the sum of the digits in step 3?
A. 38 B.36 C.32 D.34 E.Noneofthese

Q18. What is the square of the highest number in Step 4 ?
121

144

100

81

64

mooOw>
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Fifteen boxes A to O are placed one above the other from bottom row to top row in three columns (Z1, Z2 and Z3) such
that in each row there are three boxes and in each column, there are five boxes. The boxes from left to right in each row
are numbered 1 to 3. Each of these box contain different fruit i.e. apple, pineapple, blueberry, grapes, papaya, banana,
watermelon, orange, date, kiwi, guava, plum, cherry, mango and raspberry, not necessarily in the same order. H is placed
at the middle in one of the column. O is not box number 2. Two boxes are between N and Banana. The Banana box is
placed on an even numbered row. The Orange box is placed to the immediate left of N. Number of boxes placed above D
and below L are same and both L and D are placed in same column. The plum box is placed to the immediate left of L. Two
boxes are placed between B and the plum box. L does not contain Banana. One column is between E and F. One box is
between K and the raspberry. K is placed either on the 15t or on the 3" row. J is placed second to the left of the one which
is placed just below I. Three boxes are placed between apple and watermelon box. The watermelon box is not placed on
the 5" row. N neither contains watermelon nor apple. The blueberry box is placed to the immediate right of C. N is placed
on an odd numbered row. D is placed on an even numbered row. | does not contain blueberry. G is placed just below
papaya but does not contains orange. O contains date and is placed just below the box which is placed to the right of H.
Two boxes are placed between M and grape’s box. B is not placed on the 1t row. H does not contains guava. One box is
placed between cherry and kiwi box. B and F are placed in different column. N does not contains cherry. K is box number
1. H does not contains raspberry. C contains pineapple. E does not contains grapes. | and G are placed at row-3 whereas N
is placed at row-1.






Q19. Which box is placed at row 2 and column 2 ?
Q20. Which box is placed at row 3 and column 3 ?
Q21. Which box is placed at row 4 and column 1 ?
Q22. Which box is placed at row 5 and column 3 ?
Q23. Which box is placed at row 1 and column 2 ?
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¥24. “TRAILER” &T FHc FT g7

#48744#

#48945#

#48844#

. #48955#

None of these
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In a certain code language, all consonants are codes as numbers from 1 to 5 starting with B (Ex : B-1,
C-2....G-5, H-1..) and all vowels are coded as sum of digits(till single digit) of place value of the
opposite letter(Ex : A — 8).

Further, following conditions are applied:

1. If the 1t and last letter are consonants, then they are coded as #.

2. If the 15t and last letter are vowels, then they are coded as S.

3. If the 1%t letter is vowel and last letter is consonant, then both codes are interchanged.

4. If the 15t letter is consonant and last letter is vowel, then both are coded as the code of 2" |etter.

Q24. What is the code for “TRAILER”?
#48744#

#48945#

#48844it

. #48955#

None of these

moO®p»
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1. IRy gger A AT 7R Ao & At 37 3H UBR PR fhaT Far )

2. 9f& ggem AR faw aR F&X §, Y 37¢ $§ F T A P Far s @

gruﬁa'qazn'3n51'?an'%'aﬁi'3ﬂﬁrn'3n51'azna:r§t ar a4 FIs 39W H 95 v A
I

4. 9fE qgel IeW oler ¢ AR IHFAA 31aW FaX §, O Sl Y gAY 3R F FIs & T

F ;T fBFar smar B

¥25. “MANIA” T FT FIT §7?

58198

88198

58195

. 88195

None of these
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In a certain code language, all consonants are codes as numbers from 1 to 5 starting with B (Ex : B-1,
C-2....G-5, H-1..) and all vowels are coded as sum of digits(till single digit) of place value of the
opposite letter(Ex : A — 8).

Further, following conditions are applied:

1. If the 1t and last letter are consonants, then they are coded as #.

2. If the 15t and last letter are vowels, then they are coded as S.

3. If the 1%t letter is vowel and last letter is consonant, then both codes are interchanged.

4. If the 15t letter is consonant and last letter is vowel, then both are coded as the code of 2" |etter.

Q25. What is the code for “MANIA”?

A. 58198
B. 88198
C. 58195
D. 88195
E. None of these
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